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B. Sc. 4th Semester (General) Examination-2022 (CBCS) 
Subject: Chemistry 
Paper: CC-D/GE-4  

Time: 2 Hours                                                                                                   Full Marks: 40 
 
1. Answer any five questions:       2 × 5 = 10 
যেক োন পোাঁ চটি প্রকের উত্তর দোওঃ 

(a)“Half bottle of CCl4-water” is kept in a reagent rack- mention the number of component 
       and phase of this system. 
“আধক োতল CCl4-জল” ব  োর -তোক  রোখো আকে – এই বিকেমটির অ য়  (component) ও দশো (phase)  

িংখযো উকেখ  র । 

(b)What is meant by “azeotropic mixture with minimum boiling point”? 
“বনম্নতম সু্ফটনোঙ্কব বশষ্ট অযোবজওট্রবপ  বমশ্রন”- লকত ব  য োঝোয় ? 

(c)   At 180C, the specific conductance of 0.05N NaCl is 4.79 x 10-3ohm-1cm-1, what is the equivalent  
conductance of 0.05N NaCl? 
180C উষ্ণতোয়, 0.05N NaCl –এর আকপবি  পোবর োবিতো 4.79x10-3ohm-1cm-1িকল, 0.05N NaCl-এর 

তুলযোঙ্ক পোবর োবিতো  ত? 

(d)Write the electrode half reactions and cell reaction for the cell- (Pt) Fe2+-Fe3+  
ǁCl-| AgCl(s)-Ag. 

(Pt) Fe2+-Fe3+  ǁCl-|AgCl(s)-Ag –য োশটির অধধতবিতদ্বোর ব বিয়োগুবল এ ং য োশব বিয়োটি যলখ। 

(e)Write down the principle of gravimetric estimation of Zn2+. Give equation.   
Zn2 +আয়কনর যতৌবল  পবরমোকপর নীবতটি যলখ। িমী রণ দোও। 

 (f)   During titration of 25 ml 0.01N Na2CO3 by 0.0125 N HCl, at what volume of acid the colour  
changewill be occurred if phenolphthalein is used as indicator? 
25 ml 0.01N Na2CO3য  0.0125N HCl দ্বোরো প্রশবমত  রোর িময়, অযোবিকের য োন আয়তকন  ণধ 

পবর তধ ন ঘটক  েবদ বিনলপথ্যোবলন বনকদধ শ  বিিোক   য হৃত িয়? 

(g) Write down the essential criteria of a compound to be used as metal-ion indicator. 
ধোত -আয়ন বনকদধ শ  বিিোক   য হৃত িকত য োন যেৌকের আ বশয  শতধ গুবল যলখ। 

(h)Where “electrostatic precipitator” is used as air pollution control device? “Zeolite Process” is  
          related to which fact--softening of water  / desalination of water ? 
 োয়ুদূষণ বনয়ন্ত্র  বিিোক   “electrostatic precipitator” য োথ্োয়  য হৃত িয় ? “বজওলোইট পদ্ধবত” য োন 

ঘটনোর িোকথ্ িম্প ধ েুক্ত—জকলর মৃদু রণ / জকলর ল ণ ব মুবক্ত রণ? 

2.Answer any two questions:      5 × 2 = 10 
যেক োন দুটি প্রকের উত্তর দোওঃ 

(a) (i) Draw the vapour pressure-composition curve of ethanol-water system- in which the  
deviation from Raoult’s law is positive with a maximum point of total vapour pressure (given  
P0

ethanol> P0
water). 

ইথ্োনল-জল বিকেকমর  োষ্পচোপ-েোঢ়ত্ব (vapour pressure-composition) যলখবচত্র আাঁ  – যেখোকন যমোট 

 োষ্পচোকপর ব চুযবত িক ধোচ্চ ব নু্দ-িি রোউল্ট িুত্র যথ্ক  ধনোত্ম  (যদওয়ো আকে P0
ethanol> P0

water) । 

(ii)What is meant by “lower CST of triethyl amine-water system is 18.5oC” ? 
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“ট্রোই-ইথ্োইলঅযোবমন – জল বিকেকমর বনম্নতর CST িল 18.5oC” – লকত ব  য োঝোয়? 3+2 

(b)  (i)At 250C, it is observed “Λ0 (KCl) - Λ0 (NaCl) = Λ0 (KNO3) - Λ0 (NaNO3)”-explain 
(where Λ0 equivalent conductance at infinite dilution). 
250C উষ্ণতোয়, যদখোেোয় “Λ0(KCl) - Λ0(NaCl) = Λ0(KNO3) - Λ0(NaNO3)” – ইিো  যোখযো  র 

(যেখোকন Λ0 অিীম লঘুতোয় তুলযোঙ্কপোবর োবিতো)। 

(ii)In a dilute copper sulphate solution, cupric ions transport 38% of total current, what is the  
transport number of SO4

2- ionin that solution? 
এ টি  পোর িোলকিকটর লঘু দ্র কণ ব উবপ্র  আয়ন যমোট তবিকতর 38%  িন  কর, ঐ দ্র কন SO4

2- 

আয়কনর  িনোঙ্ক  ত? 
(iii) Give example: an electrode which is generally used as standard electrode. 

প্রমোণ তবিতদ্বোর বিিোক   য হৃত িয় এমন এ টি তবিতদ্বোকরর উদোিরণ দোও। 2+2+1 

(c) (i) To prepare 250 ml 1.02 (N/10) Na2CO3 solution what amount of Na2CO3 is required? 
250 ml 1.02 (N/10) Na2CO3 দ্র ন প্রস্তুত  রকত ব  পবরমোন Na2CO3 প্রকয়োজন ? 

(ii) What is the difference between iodimetry and iodometry ? 
আকয়োবেবমবত ও আকয়োকেোবমবতর পোথ্ধ য ব ? 

(iii) Write the full form-HPLC. 
HPLC-এর পুকরো  থ্োটি যলখ।  2+2+1 

(d) (i) Write down one source and one harmful effect of CO as air pollutant. 
CO-এর এ টি উৎি এ ং  োয়ুদূষ  বিিোক  এ টি িবত র প্রভো  যলখ ।  

     (ii) What is meant by “BOD of sample water is 80 mgl-1” ? 
“এ টি নমুনো জকলর BOD 80 mgl-1”- লকত ব  য োঝোয়?  
     (iii) What is deionized water? 

আয়নমুক্ত জল ব  ?                                                                                                          (1+1)+2+1 

3.Answer any two questions:                                                                                       10 × 2 = 10 
যেক োন দুটি প্রকের উত্তর দোওঃ 

(a) (i) Write down the Nernst Distribution law with mathematical expression. Mention one limitation      
         and one application of this law. 
েোবণবত  রোবশমোলো-িি নোনধে-এর  ন্টন িূত্রটি যলখ। এই িূকত্রর এ টি িীমো দ্ধতো ও এ টি প্রকয়োে উকেখ  র । 

    (ii) A pure substance can exist in a gas phase (G) and in two solid phases (S1 & S2)-how                
         many phase equilibriums are possible? Represent those symbolically. 
এ টি ব শুদ্ধ দ্র য এ টি েযোিীয় (G) এ ং দুটি  ঠিন (S1 ও S2) অ স্থোয় থ্ো কত পোকর –  ত গুবল দশো- 

িোময স্থোিম্ভ  ? িোংক বত ভোক  তোকদর প্র োশ  র । 

    (iii) Show-at triple point the degrees of freedom (F) is zero. 
যদখোও — ত্রত্রধব নু্দকত  (triple point) স্বোতন্ত্রমোত্রো (F-degree of freedom) শূনয। 

(iv) What is the effect of addition of naphthalene on CST of phenol-water system? 

যিনল-জল বিকেকমর CST-এর উপর নযোপথ্যোবলন যেোকের প্রভো  ব ? (2+2)+3+2+1 

(b) (i) Discuss the variation of specific conductance with dilution for strong and weak electrolytes.  

তীব্র ও মৃদু তবিত ব কেকষযর লঘুতোর িোকথ্ আকপবি  পবর োবিতোর পবর তধ ন আকলোচনো  র ।  

(ii) Graphically represent – conductometric titration of strong acids by strong base. Label the  
neutralisation point. 
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তীব্র িোরদ্বোরো তীব্র অযোবিকের পবর োবিতো প্রশমনবিয়ো-যলখবচকত্রর িোিোকেয প্র োশ  র । প্রশমন ব নু্দ বচবিত 

 র।     

(iii) At 250C, ∆G0 for the reaction of the cell- (Pt) Br2| Br-
ǁ Cl-| Cl2 (Pt-Ir) is -6.754 Kcal, calculate  

E0 of the cell. 
250Cউষ্ণতোয়, (Pt) Br2|Br-ǁCl-|Cl2 (Pt-Ir) –এইক োশব বিয়োর∆G0-এর মোন-6.754Kcal,  

য োশটির E0 েণনো  র। 
(iv) Write the principle of determination of  the pH of a solution using hydrogen electrode? 

িোইকরোকজন-তবিতদ্বোর  য িোর  কর য োন দ্র কনর pH বনণধয়  রোর নীবতটি যলখ।   2+2+3+3 
(c) (i) A solution containing 250 ml 2.4 x 10-4 M Na2S, is mixed with 250 ml of a solution containing   
4.2 x10-8M Ni(NO3)2. Whether precipitate will form or not? (Given Ksp of NiS is 3.1 x 10-21). 
250 ml 2.4 x 10-4 M Na2S –এর এ টি দ্র নক , 250 ml 4.2 x 10-8M Ni(NO3)2-এর দ্র কন যমশোকনো 

িল । অধঃকিপ পিক  ব  পিক  নো (যদওয়োআকে, NiS-এরKspিল 3.1 x 10-21) ? 
(ii) “Any indicator can be used for the titration of strong acid vs strong base”-criticise 

“তীব্র আবিে vs তীব্রিোর প্রশমন বিয়োয় যেক োন বনকদধ শ   য িোর  রো যেকত পোকর”-িমোকলোচনো  র ।  

(iii) Write down the redox reactions for the estimation of ferrous ion by acidic K2Cr2O7. Which  
indicator is used in this case?  
আবি  K2Cr2O7 দ্বোরো যিরোি আয়ন পবরমোকপর িময় জোরন-ব জোরণব বিয়োগুবল যলখ । এইকিকত্র য োন 

বনকদধ শ   য িোর  রো িয়?  
 (iv) Write the full form of EDTA      3+3+(2+1)+1 
EDTA-এর পুকরো  থ্োটি যলখ। 

(d) Write short note (any four)-                                                                                            4 × 21
2
 

টী ো যলখ (যেক োনচোরটি) 

     (i) Photochemical smog 
Photochemical যধোাঁ য়োশো 
 (ii) Green house gas  
     গ্রীন িোউি েযোি  
(iii)  Catalytic converter  
 অনুঘটন পবর তধ   

 (iv) Detergent বেটোকজধ ন্ট 
 (v) Acid rain অযোবিে  ৃবষ্ট 
 (iv) Reverse osmosis. ব পরীত অবভস্র ন প্রবিয়ো  

---O--- 


